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& K 4900/ 737| 566| 200 1329| 368| 163| 370| 631| 662 1077| 367| 809| 386| 898 5 1279
100.0| 15.0| 11.6| 4.1 27.1| 7.5/ 3.3/ 7.6/ 12.9/ 13.5/ 22.0/ 7.5/ 16.5| 7.9/ 18.3| 1.3/ 26.1
IR 400 59 58 11 96 32 20 37 42 46 98 42 62 16 82 1 102
100.0| 14.8| 14.5| 2.8/ 24.0/ 80/ 50| 9.3 10.5/ 11.5 245 10.5/ 155/ 4.0/ 20.5/ 0.3] 25.5
BIKX 400 55 32 14 91 25 14 37 50 61 88 26 63 40 67 7 114
100.0| 13.8| 8.0/ 3.5/ 22.8/ 6.3 35 9.3 125 153 220/ 6.5 158/ 10.0/ 16.8 1.8/ 285
AHRX 400 55 52 13| 107 31 12 19 58 50 58 21 78 40 79 9 112
100.0| 13.8| 13.0/ 3.3/ 26.8/ 7.8/ 3.0 4.8 14.5 125/ 145/ 53/ 19.5/ 10.0/ 19.8] 2.3/ 28.0
BEK 300 48 26 12 83 19 7 24 65 49 25 24 74 20 59 10 71
100.0| 16.0| 8.7 4.0/ 27.7| 6.3 2.3/ 80| 21.7| 16.3] 8.3 8.0 247 6.7 19.7| 3.3 237
AKX 400 49 51 17 113 33 8 34 54 43 56 34 80 38 79 6| 108
100.0| 12.3| 12.8/ 4.3/ 28.3] 83| 20 85 13.5 10.8 14.0/ 85 200 9.5 19.8 1.5 27.0
BHHX 400 69 43 18] 108 26 11 35 45 52 92 37 58 24 79 6| 101
100.0| 17.3| 10.8| 4.5/ 27.0/ 6.5/ 2.8 8.8 11.3] 13.0/ 230/ 9.3 145 6.0 19.8 1.5 253
TIEK 400 55 38 15| 109 29 12 28 52 65 46 39 89 37 76 2| 108
100.0| 13.8] 9.5/ 3.8 27.3] 7.3 3.0 7.0/ 13.0/ 16.3] 11.5| 9.8 22.3] 9.3] 19.0/ 0.5 27.0
BElBTh., #ETh. #MifEth. 74T 150 23 23 7 48 16 6 11 24 32 54 8 26 16 16 2 31
100.0| 15.3| 15.3| 4.7/ 32.0] 10.7| 4.0/ 7.3| 16.0/ 21.3) 36.0/ 53| 17.3] 10.7| 10.7| 1.3| 20.7
BEA TR, FREkth. SAIRET, FEET 100 19 8 4 28 8 2 7 11 19 30 6 11 11 9 2 24
100.0| 19.0| 8.0/ 4.0 28.0/ 80| 20 7.0 11.0/ 19.0/ 30.0/ 6.0/ 11.0/ 11.0] 9.0 2.0/ 24.0
WmFM. SFA™. WESH 200 33 28 9 54 13 6 19 18 22 66 10 23 9 36 1 54
100.0| 16.5| 14.0/ 4.5 27.0/ 6.5/ 3.0 9.5/ 9.0/ 11.0/ 33.0/ 50 11.5/ 45 180/ 0.5 27.0
HRET. =Fh. WEET, KA1 350 54 29 17 95 21 10 26 38 44 97 24 35 29 54 9 98
100.0| 15.4| 8.3| 4.9 27.1] 6.0/ 2.9/ 7.4/ 10.9] 12.6] 27.7| 6.9 10.0 8.3 15.4| 2.6 28.0
=@, Fm 200 36 32 12 74 20 5 14 21 25 57 12 21 20 33 1 41
100.0| 18.0| 16.0| 6.0/ 37.0/ 10.0/ 2.5 7.0/ 10.5| 12.5/ 28.5/ 6.0/ 10.5| 10.0/ 16.5| 0.5/ 20.5
NI 400 55 47 1] 111 32 20 25 47 56 76 27 61 34 81 2| 108
100.0| 13.8| 11.8/ 2.8/ 27.8 8.0/ 50 6.3 11.8 140/ 19.0/ 6.8 153 85 20.3] 0.5 27.0
1&Eh 400 60 51 14 117 32 14 26 47 50/ 105 24 65 29 68 3 109
100.0| 15.0| 12.8| 3.5/ 29.3] 8.0 35 65 11.8 12.5 26.3] 6.0/ 16.3] 7.3 17.0/ 0.8 27.3
#mAath. EFh 200 38 25 14 47 19 7 14 35 27 59 14 32 11 43 3 46
100.0| 19.0| 12.5| 7.0/ 23.5| 9.5 3.5 7.0/ 17.5| 13.5| 29.5| 7.0/ 16.0/ 55 21.5| 1.5 23.0
HAE™H 200 29 23 12 48 12 9 14 24 21 70 19 31 12 37 1 52
100.0/ 14.5| 11.5| 6.0/ 24.0/ 6.0/ 45 7.0 12.0/ 10.5| 350/ 9.5 155 6.0/ 18.5| 0.5 26.0
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£ & 4900 2 4 5 6 1 1311 4711
100.0 0.0 0.1 0.3 0.1 0.6 2.7 96.1
IRINIRX 400 - - 3 1 6 16 374
100.0 - - 0.8 0.3 1.5 4.0/ 93.5
BIX 400 - - 1 - 1 13 385
100.0 - - 0.3 - 0.3 3.3] 96.3
KHEHEX 400 - - - - 1 4 395
100.0 - - - - 0.3 1.0/ 98.8
BREX 300 1 - - - 4 4 291
100.0 0.3 - - - 1.3 1.3] 97.0
=HEX 400 - - 2 - 5 14 379
100.0 - - 0.5 - 1.3 3.5 94.8
B 400 - 1 2 1 3 17 376
100. 0 - 0.3 0.5 0.3 0.8 4.3 94.0
IR 400 - 1 2 1 1 8 387
100. 0 - 0.3 0.5 0.3 0.3 2.0/ 96.8
BEIE™., Bk, #ilEET. TAHH 150 - - - 1 1 10 138
100. 0 - - - 0.7 0.7 6.7 92.0
Besigth., fEh. SAWNET. F4EED 100 - - - 2 6 92
100. 0 - - - - 2.0 6.0/ 92.0
BFEm. sFAT. RES 200 1 - 1 - 1 5 192
100. 0 0.5 - 0.5 - 0.5 2.5 96.0
EHBE™H. =Fm. WFET. WREL 350 - - 1 - 2 6 341
100. 0 - - 0.3 - 0.6 1.7 97.4
=/h. FNE 200 - 1 - - - 1 192
100.0 - 0.5 - - - 3.5] 96.0
NI 400 - - 2 2 1 7 388
100.0 - - 0.5 0.5 0.3 1.8 97.0
HET 400 - 1 1 - 2 12 384
100.0 - 0.3 0.3 - 0.5 3.0/ 96.0
HE™m. EFM 200 - - - - - 1 199
100.0 - - - - - 0.5| 99.5
AT 200 - - - - 1 1 198
100. 0 - - - - 0.5 0.5/ 99.0




(1) KEUNFEOFIFAKR
RYTFE BRFH)
EETOYHE

E3 3B IE A A T [E3

R & st Iz Iz z = &

T vy 2 1 2 1 ] vy

M E § E] § E] [=] E

= 3 & 3 2 F

=] [=] E [=] E A

L

LAY

Ly
£ & 4900 1 9 1 7 5 96| 4751
100.0 0.0 0.2 0.2 0.1 0.5 2.0/ 97.0
IRINIRX 400 - 1 1 1 4 14 379
100.0 - 0.3 0.3 0.3 1.0 3.5| 94.8
BiIX 400 - - 1 1 2 9 387
100.0 - - 0.3 0.3 0.5 2.3| 96.8
KHEHEX 400 - - - - 1 4 395
100.0 - - - - 0.3 1.0/ 98.8
BHEEX 300 - - - - 3 4 293
100.0 - - - - 1.0 1.3 97.7
=HEX 400 - 2 1 1 3 1 382
100.0 - 0.5 0.3 0.3 0.8 2.8/ 95.5
B 400 1 1 2 - 2 1 383
100.0 0.3 0.3 0.5 - 0.5 2.8/ 95.8
IEREX 400 - 3 1 1 2 7 386
100.0 - 0.8 0.3 0.3 0.5 1.8] 96.5
BEIE™., Bk, #ilEET. TAHH 150 - - - - 1 7 142
100.0 - - - - 0.7 4.7 94.7
BT, fEEkT. SATNET. FI4RET 100 - - - - - 5 95
100.0 - - - - - 5.0/ 95.0
BFEm. sFAT. RES 200 - - 1 1 1 1 196
100.0 - - 0.5 0.5 0.5 0.5| 98.0
EBE™H. =Fh. WFET. WRE] 350 - - - - 2 6 342
100.0 - - - - 0.6 1.7 97.7
=, FJW 200 - 1 - - - 4 195
100.0 - 0.5 - - - 2.0/ 97.5
NI 400 - - 2 2 2 6 388
100.0 - - 0.5 0.5 0.5 1.5| 97.0
HET 400 - 1 2 - 2 5 390
100.0 - 0.3 0.5 - 0.5 1.3] 97.5
HE™m. EFM 200 - - - - - 1 199
100.0 - - - - - 0.5| 99.5
AT 200 - - - - - 1 199
100. 0 - - - - - 0.5/ 99.5
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£ & 4900 2 0 4 8 4 87| 4765
100.0 0.0 0.2 0.1 0.2 0.5 1.8] 97.2
IRINIRX 400 1 1 1 - 4 13 380
100.0 0.3 0.3 0.3 - 1.0 3.3] 95.0
BiIX 400 - - 1 1 1 9 388
100.0 - - 0.3 0.3 0.3 2.3 97.0
KHEHEX 400 - - - - 1 4 395
100.0 - - - - 0.3 1.0/ 98.8
BHEEX 300 - - - - 3 3 294
100.0 - - - - 1.0 1.0/ 98.0
=HEX 400 - 2 - 1 3 0 384
100.0 - 0.5 - 0.3 0.8 2.5 96.0
B 400 1 - 1 1 3 1 383
100.0 0.3 - 0.3 0.3 0.8 2.8/ 95.8
IEREX 400 - 3 - 1 3 5 388
100.0 - 0.8 - 0.3 0.8 1.3] 97.0
BEIE™., Bk, #ilEET. TAHH 150 - - - - - 7 143
100.0 - - - - - 4.7 95.3
BT, fEEkT. SATNET. FI4RET 100 - - - - - 4 96
100.0 - - - - - 4.0/ 96.0
BFEm. sFAT. RES 200 - - - 2 1 1 196
100.0 - - - 1.0 0.5 0.5| 98.0
EBE™H. =Fh. WFET. WRE] 350 - - - - 2 4 344
100.0 - - - - 0.6 1.1] 98.3
=, FJW 200 - 1 - - - 3 196
100.0 - 0.5 - - - 1.5 98.0
NI 400 - 1 2 3 5 389
100.0 - 0.3 - 0.5 0.8 1.3] 97.3
HET 400 - 2 1 - - 6 391
100.0 - 0.5 0.3 - - 1.5 97.8
HE™m. EFM 200 - - - - - 1 199
100.0 - - - - - 0.5| 99.5
AT 200 - - - - - 1 199
100. 0 - - - - - 0.5/ 99.5




(11) KEUNSEEDFIAIRR
IN—IN—T 4 BFE

#EIJOY YA

E3 3B IE A A T [E3

R & st Iz Iz z = &

T vy 2 1 2 1 ] vy

M E § E] § E] [=] E

= 3 & 3 2 F

=] [=] E [=] E A

L

LAY

Ly
£ & 4900 6 6 4 7 4| 4823
100.0 0.1 0.1 0.1 0.3 0.9/ 98.4
IRINIRX 400 - 2 1 1 6 390
100.0 - 0.5 0.3 0.3 1.5 97.5
BiIX 400 - 1 - 3 6 390
100.0 - 0.3 - 0.8 1.5 97.5
KHEHEX 400 - - - 1 4 395
100.0 - - - 0.3 1.0/ 98.8
BHEEX 300 - - - 2 298
100.0 - - - - 0.7/ 99.3
=HEX 400 1 - - 3 4 392
100.0 0.3 - - 0.8 1.0/ 98.0
B 400 1 1 1 2 6 389
100.0 0.3 0.3 0.3 0.5 1.5] 97.3
IEREX 400 1 1 - 3 2 393
100.0 0.3 0.3 - 0.8 0.5/ 98.3
BEIE™., Bk, #ilEET. TAHH 150 - - - - - 150
100.0 - - - - -1 100.0
BT, fEEkT. SATNET. FI4RET 100 - - - - 1 99
100.0 - - - - 1.0/ 99.0
BFEm. sFAT. RES 200 - - 1 1 1 197
100.0 - - 0.5 0.5 0.5/ 98.5
EBE™H. =Fh. WFET. WRE] 350 - - - - 6 344
100.0 - - - - 1.7] 98.3
=, FJW 200 1 - 1 - 198
100.0 0.5 - - 0.5 -1 99.0
NI 400 - 1 - 2 3 394
100.0 - 0.3 - 0.5 0.8| 98.5
HET 400 2 - 1 - 3 394
100.0 0.5 - 0.3 - 0.8| 98.5
HE™m. EFM 200 - - - - -l 200
100.0 - - - - -1 100.0
HAB™ 200 - - - - -l 200
100. 0 - - - - -1 100.0
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£ & 4900 8 6 3 56 431| 4376
100.0 0.2 0.1 0.5 1.1 8.8/ 89.3
IRINIRX 400 2 1 5 17 80 295
100.0 0.5 0.3 1.3 4.3 20.0] 73.8
RBIX 400 - 1 - 4 39 356
100.0 - 0.3 - 1.0 9.8/ 89.0
KHEHEX 400 - - 1 2 27 370
100.0 - - 0.3 0.5 6.8 92.5
BHEEX 300 - 2 2 13 283
100.0 - - 0.7 0.7 4.3 94.3
=HEX 400 1 - 1 0 47 341
100.0 0.3 - 0.3 2.5/ 11.8] 85.3
B 400 1 1 2 6 44 346
100.0 0.3 0.3 0.5 1.5/ 11.0| 86.5
IEREX 400 1 2 1 5 46 345
100.0 0.3 0.5 0.3 1.3/ 11.5| 86.3
BEET, #ikh., T, TAm 150 - 1 4 3 27 115
100.0 - 0.7 2.1 2.0/ 18.0] 76.7
BT, fEEkT. SATNET. FI4RET 100 - - - 1 7 92
100.0 - - - 1.0 7.0 92.0
BFEm. sFAT. RES 200 - - 2 - 12 186
100.0 - - 1.0 - 6.0/ 93.0
EBE™H. =Fh. WFET. WRE] 350 - - 1 1 22 326
100.0 - - 0.3 0.3 6.3] 93.1
=, FJW 200 1 - - 1 23 175
100.0 0.5 - - 0.5/ 11.5] 87.5
NI 400 - - 3 1 16 380
100.0 - - 0.8 0.3 4.0/ 95.0
HET 400 2 - 1 1 19 377
100.0 0.5 - 0.3 0.3 4.8/ 94.3
#aEm., EFH 200 - - - 1 5 194
100.0 - - - 0.5 2.5 97.0
AT 200 - - - 1 4 195
100. 0 - - - 0.5 2.0/ 97.5
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£ & 4900 1 5 4 0 7 82| 4781
100.0 0.0 0.1 0.1 0.2 0.3 1.7| 97.6
IRINIRX 400 - - 1 4 3 13 379
100.0 - - 0.3 1.0 0.8 3.3] 94.8
RBIX 400 - - 1 - 3 6 390
100.0 - - 0.3 - 0.8 1.5 97.5
KHEHEX 400 - - - 1 5 304
100.0 - - - - 0.3 1.3] 98.5
BHEEX 300 - - 1 - 6 293
100.0 - - - 0.3 - 2.0 97.7
=HEX 400 - 1 - 1 4 9 385
100.0 - 0.3 - 0.3 1.0 2.3| 96.3
B 400 1 - - 1 1 13 384
100.0 0.3 - - 0.3 0.3 3.3] 96.0
IEREX 400 - 1 - 1 2 7 389
100.0 - 0.3 - 0.3 0.5 1.8] 97.3
BEIE™., Bk, #ilEET. TAHH 150 - - - - - 4 146
100.0 - - - - - 2.7 97.3
BT, fEEkT. SATNET. FI4RET 100 - - - - - 3 97
100.0 - - - - - 3.0/ 97.0
BRFh. sFAMH. REH 200 - - - 1 - 1 198
100.0 - - - 0.5 - 0.5 99.0
EBE™H. =Fh. WFET. WRE] 350 - - - - 2 5 343
100.0 - - - - 0.6 1.4] 98.0
=, FJW 200 - - 1 - - 2 197
100.0 - - 0.5 - - 1.0/ 98.5
NI 400 - - 1 1 1 5 392
100.0 - - 0.3 0.3 0.3 1.3] 98.0
HET 400 - 3 - - - 2 395
100.0 - 0.8 - - - 0.5| 98.8
HE™m. EFM 200 - - - - - -l 200
100.0 - - - - - -1 100.0
AT 200 - - - - - 1 199
100. 0 - - - - - 0.5/ 99.5
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100.0 0.1 0.1 0.1 0.3 1.0/ 98.4
IRINIRX 400 - 3 1 2 4 390
100.0 - 0.8 0.3 0.5 1.0/ 97.5
RBIX 400 - 1 - 2 4 393
100.0 - 0.3 - 0.5 1.0/ 98.3
KHEHEX 400 - - - 1 3 396
100.0 - - - 0.3 0.8/ 99.0
BHEEX 300 - - - - 1 299
100.0 - - - - 0.3] 99.7
=HEX 400 - 1 - 2 4 393
100.0 - 0.3 - 0.5 1.0/ 98.3
B 400 1 - 1 1 3 394
100.0 0.3 - 0.3 0.3 0.8/ 98.5
IEREX 400 1 - 1 - 5 393
100.0 0.3 - 0.3 - 1.3] 98.3
BEIE™., Bk, #ilEET. TAHH 150 - - - 2 3 145
100.0 - - - 1.3 2.0/ 96.7
BT, fEEkT. SATNET. FI4RET 100 - - - 2 98
100.0 - - - - 2.0/ 98.0
BFEm. sFAT. RES 200 - 1 - 1 4 194
100.0 - 0.5 - 0.5 2.0/ 97.0
EHBE™H. =Fm. WFET. WREL 350 - - - - 5|/ 345
100.0 - - - - 1.4] 98.6
=, FJW 200 - 1 - - 1 198
100.0 - 0.5 - - 0.5 99.0
JIllE T 400 - - - 3 3| 394
100.0 - - - 0.8 0.8| 98.5
HET 400 2 - 1 - 4 393
100.0 0.5 - 0.3 - 1.0/ 98.3
HE™m. EFM 200 - - - - 1 199
100.0 - - - - 0.5| 99.5
HAB™ 200 - - - - -l 200
100. 0 - - - - -1 100.0
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£ & 4900 5 5 5 8 42| 4835
100.0 0.1 0.1 0.1 0.2 0.9/ 98.7
IRINIRX 400 1 1 1 - 8 389
100.0 0.3 0.3 0.3 - 2.0/ 97.3
RBIX 400 - 1 - 2 3 394
100.0 - 0.3 - 0.5 0.8/ 98.5
KHEHEX 400 - - - 1 3 396
100.0 - - - 0.3 0.8/ 99.0
BHEEX 300 - - - - - 300
100.0 - - - - -1 100.0
=HEX 400 - 1 - 1 6 392
100.0 - 0.3 - 0.3 1.5 98.0
B 400 1 1 1 - 5 392
100.0 0.3 0.3 0.3 - 1.3] 98.0
IEREX 400 1 - 1 1 2 395
100.0 0.3 - 0.3 0.3 0.5| 98.8
BEIE™., Bk, #ilEET. TAHH 150 - - - - 3 147
100.0 - - - - 2.0/ 98.0
BT, fEEkT. SATNET. FI4RET 100 - - - - 1 99
100.0 - - - - 1.0/ 99.0
BRFh. sFAMH. REH 200 - - 1 2 197
100.0 - - 0.5 - 1.0/ 98.5
EBE™H. =Fh. WFET. WRE] 350 - - - 1 3 346
100.0 - - - 0.3 0.9/ 98.9
=, FJW 200 - 1 - - 1 198
100.0 - 0.5 - - 0.5 99.0
NI 400 - - 1 2 1 396
100.0 - - 0.3 0.5 0.3 99.0
HET 400 2 - - - 3 395
100.0 0.5 - - - 0.8/ 98.8
HE™m. EFM 200 - - - - 1 199
100.0 - - - - 0.5| 99.5
HAB™ 200 - - - - -l 200
100. 0 - - - - -1 100.0
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£ & 4900 1 4 6 20 6 189| 4644
100.0 0.0 0.1 0.1 0.4 0.7 3.9/ 94.8
IRINIRX 400 - - 1 - 2 6 391
100.0 - - 0.3 - 0.5 1.5 97.8
RBIX 400 - - 1 - 1 6 392
100.0 - - 0.3 - 0.3 1.5 98.0
KHEHEX 400 - - - 2 1 3 394
100.0 - - - 0.5 0.3 0.8/ 98.5
BHEEX 300 - 1 - 1 - 3 295
100.0 - 0.3 - 0.3 - 1.0/ 98.3
=HEX 400 - - - 1 1 12 386
100.0 - - - 0.3 0.3 3.0/ 96.5
B 400 - - 1 - 3 7 389
100.0 - - 0.3 - 0.8 1.8] 97.3
IEREX 400 - 1 - - 1 8 390
100.0 - 0.3 - - 0.3 2.0/ 97.5
BEIE™., Bk, #ilEET. TAHH 150 - - 1 8 6 6 59
100.0 - - 0.7 5.3 10.7| 44.0/ 39.3
BT, fEETh. SATRET. FIRHE] 100 1 - - 6 7 29 57
100.0 1.0 - - 6.0 7.0/ 29.0f 57.0
BFEm. sFAT. RES 200 - - - 1 - 23 176
100.0 - - - 0.5 -/ 11.5| 88.0
EBE™H. =Fh. WFET. WRE] 350 - - - - 1 8 341
100.0 - - - - 0.3 2.3] 97.4
=, FJW 200 - - 1 - - 6 193
100.0 - - 0.5 - - 3.0/ 96.5
NI 400 - - 1 1 2 2 394
100.0 - - 0.3 0.3 0.5 0.5/ 98.5
HET 400 - 2 - - - 8 390
100.0 - 0.5 - - - 2.0/ 97.5
#aEm., EFH 200 - - - - 1 2 197
100.0 - - - - 0.5 1.0/ 98.5
HAB™ 200 - - - - - -l 200
100. 0 - - - - - -1 100.0
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100.0 0.0 0.1 0.1 0.2 0.6 3.7 95.2
IR 400 1 - 1 - 4 10| 384
100.0 0.3 - 0.3 - 1.0 2.5 96.0
BiIRX 400 - - 1 - 1 9] 389
100.0 - - 0.3 - 0.3 2.3 97.3
pN::]ES 400 - - - - 3 2] 395
100.0 - - - - 0.8 0.5| 98.8
BEREX 300 - - 1 1 4] 294
100.0 - - - 0.3 0.3 1.3] 98.0
SHRX 400 - 1 - - 2 14] 383
100.0 - 0.3 - - 0.5 3.5| 95.8
B 400 - - 1 - 3 25 37
100.0 - - 0.3 - 0.8 6.3 92.8
IEREX 400 - - 1 - - 10 389
100.0 - - 0.3 - - 2.5 97.3
BEET, #ikh., T, TAm 150 - - - 1 2 23 124
100.0 - - - 0.7 1.3 15.3| 82.7
BT, fEETh. SATRET. FIRHE] 100 - - 1 6 6 23 64
100.0 - - 1.0 6.0 6.0/ 23.0/ 64.0
BFEm. sFAT. RES 200 - - 1 1 2 40 156
100.0 - - 0.5 0.5 1.0/ 20.0| 78.0
EBE™H. =Fh. WFET. WRE] 350 - - - 2 - 10 338
100.0 - - - 0.6 - 2.9/ 96.6
=, FJW 200 - - - 1 2 6 191
100.0 - - -l 0.5/ 1.0/ 3.0/ 955
NI 400 - - 1 - 1 2 396
100.0 - -l 0.3 -| 0.3 0.5 99.0
HET 400 - 2 - - - 5 393
100.0 -1 0.5 - - - 1.3 98.3
trah. EFh 200 - - - - - -1 200
100.0 - - - - - -1 100.0
AT 200 - - - - - - 200
100.0 - - - - - -1 100.0
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£ & 4900 6 4 2 5 436| 4407
100.0 0.1 0.1 0.2 0.7 8.9/ 89.9
IRINIRX 400 2 1 1 6 54 336
100.0 0.5 0.3 0.3 1.5/ 13.5| 84.0
BiIX 400 - 1 1 2 33 363
100.0 - 0.3 0.3 0.5 8.3] 90.8
KHEHEX 400 - - 2 1 24 373
100.0 - - 0.5 0.3 6.0/ 93.3
BHEEX 300 - - - 2 14 284
100.0 - - - 0.7 4.7 94.7
=HEX 400 - 1 - 3 43 353
100.0 - 0.3 - 0.8 10.8] 88.3
B 400 1 - 2 4 44 349
100.0 0.3 - 0.5 1.0/ 11.0| 87.3
IEREX 400 - 1 - 5 35 359
100.0 - 0.3 - 1.3 8.8/ 89.8
BEET, #ikh., T, TAm 150 - - 1 3 54 92
100.0 - - 0.7 2.0/ 36.0] 61.3
BT, fEETh. SATRET. FIRHE] 100 - - - 4 16 80
100.0 - - - 4.0/ 16.0] 80.0
BFEm. sFAT. RES 200 - - 1 1 28 170
100.0 - - 0.5 0.5/ 14.0/ 85.0
EBE™H. =Fh. WFET. WRE] 350 - - 1 - 25 324
100.0 - - 0.3 - 7.1 92.6
=, FJW 200 - 1 - 18 181
100.0 - - 0.5 - 9.0/ 90.5
NI 400 1 - 1 2 9 387
100.0 0.3 - 0.3 0.5 2.3 96.8
HET 400 2 - 1 1 22 374
100.0 0.5 - 0.3 0.3 5.5| 93.5
#aEm., EFH 200 - - - - 10 190
100.0 - - - - 5.0/ 95.0
AT 200 - - - 1 7 192
100. 0 - - - 0.5 3.5/ 96.0
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£ & 4900 1 4 3 5 9 8| 4830
100.0 0.0 0.1 0.1 0.1 0.2 1.0/ 98.6
IRINIRX 400 - - 2 1 - 5 392
100.0 - - 0.5 0.3 - 1.3] 98.0
RBIX 400 - - 1 - 1 4 394
100.0 - - 0.3 - 0.3 1.0/ 98.5
KHEHEX 400 - - - - 1 5 394
100.0 - - - - 0.3 1.3] 98.5
BHEEX 300 - - - - 1 299
100.0 - - - - - 0.3] 99.7
=HEX 400 - 1 - - - 6 393
100.0 - 0.3 - - - 1.5] 98.3
B 400 1 - - - 1 8 390
100.0 0.3 - - - 0.3 2.0/ 97.5
IR 400 - - - - 2 4] 394
100.0 - - - - 0.5 1.0/ 98.5
BEIE™., Bk, #ilEET. TAHH 150 - - - - 1 1 148
100.0 - - - - 0.7 0.7/ 98.7
BT, fEEkT. SATNET. FI4RET 100 - - - - 1 2 97
100.0 - - - - 1.0 2.0/ 97.0
BRFh. sFAMH. REH 200 - - - 1 - 3 196
100.0 - - - 0.5 - 1.5 98.0
EBE™H. =Fh. WFET. WRE] 350 - - - 1 - 4 345
100.0 - - - 0.3 - 1.1] 98.6
=, FJW 200 - - 1 1 198
100.0 - - - 0.5 - 0.5 99.0
NI 400 - 1 - 1 1 2 395
100.0 - 0.3 - 0.3 0.3 0.5| 98.8
HET 400 - 2 - - 1 2 395
100.0 - 0.5 - - 0.3 0.5| 98.8
HE™m. EFM 200 - - - - - -l 200
100.0 - - - - - -1 100.0
HAB™ 200 - - - - - -l 200
100. 0 - - - - - -1 100.0
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£ & 4900 1 6 7 19 66 245| 4556
100.0 0.0 0.1 0.1 0.4 1.3 5.0/ 93.0
IRINIRX 400 1 2 5 12 33 82 265
100.0 0.3 0.5 1.3 3.0 8.3] 20.5| 66.3
BiIX 400 - - 1 - 3 12 384
100.0 - - 0.3 - 0.8 3.0/ 96.0
KHEHEX 400 - - - - 1 7 392
100.0 - - - - 0.3 1.8| 98.0
BHEEX 300 - - - 1 6 293
100.0 - - - - 0.3 2.0 97.7
=HEX 400 - 1 - - 3 22 374
100.0 - 0.3 - - 0.8 5.5| 93.5
B 400 - 1 - 4 14 64 317
100.0 - 0.3 - 1.0 3.5] 16.0] 79.3
IEREX 400 - - - 1 4 22 373
100.0 - - - 0.3 1.0 5.5| 93.3
BEIE™., Bk, #ilEET. TAHH 150 - - - - - 4 146
100.0 - - - - - 2.7 97.3
BT, fEEkT. SATNET. FI4RET 100 - - - - - 1 99
100.0 - - - - - 1.0/ 99.0
BRFh. sFAMH. REH 200 - - - - 2 5 193
100.0 - - - - 1.0 2.5 96.5
EHBE™H. =Fm. WFET. WREL 350 - - - - - 71 343
100.0 - - - - - 2.0/ 98.0
=, FJW 200 - - 1 - 7 192
100.0 - - - 0.5 - 3.5] 96.0
NI 400 - 1 1 3 1 394
100.0 - 0.3 - 0.3 0.8 0.3] 98.5
HET 400 - 1 1 - 1 4 393
100.0 - 0.3 0.3 - 0.3 1.0/ 98.3
HE™m. EFM 200 - - - - 1 - 199
100.0 - - - - 0.5 - 99.5
AT 200 - - - - - 1 199
100. 0 - - - - - 0.5/ 99.5
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£ & 4900 3 4 32 105 670| 4076
100.0 0.1 0.3 0.7 2.1 13.7| 83.2
IRINIRX 400 1 5 14 29 138 213
100.0 0.3 1.3 3.5 7.3 34.5| 53.3
BiIX 400 - 1 2 5 55 337
100.0 - 0.3 0.5 1.3/ 13.8| 84.3
KHEHEX 400 - 1 1 3 25 370
100.0 - 0.3 0.3 0.8 6.3 92.5
BHEEX 300 1 1 4 31 263
100.0 - 0.3 0.3 1.3/ 10.3| 87.7
=HEX 400 1 - 2 17 1 309
100.0 0.3 - 0.5 4.3 17.8] 71.3
B 400 - 3 3 21 93 280
100.0 - 0.8 0.8 5.3] 23.3] 70.0
IEREX 400 - 2 3 11 86 298
100.0 - 0.5 0.8 2.8 21.5] 74.5
BEET, #ikh., T, TAm 150 - - 1 2 37 110
100.0 - - 0.7 1.3 24.7| 173.3
BT, fEEkT. SATNET. FI4RET 100 - - - 1 10 89
100.0 - - - 1.0/ 10.0| 89.0
BFEm. sFAT. RES 200 - - 1 - 20 179
100.0 - - 0.5 - 10.0| 89.5
EBE™H. =Fh. WFET. WRE] 350 - - - - 21 329
100.0 - - - - 6.0/ 94.0
=, FJW 200 - - 2 2 29 167
100.0 - - 1.0 1.0/ 14.5| 83.5
NI 400 2 5 17 376
100.0 - - 0.5 1.3 4.3 94.0
HET 400 1 1 - 4 21 373
100.0 0.3 0.3 - 1.0 5.3] 93.3
#aEm., EFH 200 - - - 1 7 192
100.0 - - - 0.5 3.5] 96.0
AT 200 - - - - 9 191
100. 0 - - - - 4.5/ 95.5




(11) KEUNSEIEDFIARR
AT+ E—ILIAE
H#EIJOv o3

E3 3B IE A A T [E3

R & st Iz Iz z = &

T vy 2 1 2 1 ] vy

M E § E] § E] [=] E

= 3 & 3 2 F

=] [=] E [=] E A

L

LAY

Ly
£ & 4900 2 3 7 2 2 181| 4663
100.0 0.0 0.1 0.1 0.2 0.7 3.7 95.2
IRINIRX 400 1 1 2 3 9 29 355
100.0 0.3 0.3 0.5 0.8 2.3 7.3/ 88.8
BiIX 400 - - 1 - 2 17 380
100.0 - - 0.3 - 0.5 4.3 95.0
KHEHEX 400 - - - 1 - 6 393
100.0 - - - 0.3 - 1.5] 98.3
BHEEX 300 - 1 - - 1 288
100.0 - - 0.3 - - 3.7/ 96.0
=HEX 400 1 - - 1 6 21 37
100.0 0.3 - - 0.3 1.5 5.3] 92.8
B 400 - 1 1 1 6 32 359
100.0 - 0.3 0.3 0.3 1.5 8.0/ 89.8
IEREX 400 - - 1 2 1 16 380
100.0 - - 0.3 0.5 0.3 4.0/ 95.0
BEIE™., Bk, #ilEET. TAHH 150 - - - 1 - 8 141
100.0 - - - 0.7 - 5.3] 94.0
BT, fEEkT. SATNET. FI4RET 100 - - - - - 6 94
100.0 - - - - - 6.0/ 94.0
BFEm. sFAT. RES 200 - - - 1 1 6 192
100.0 - - - 0.5 0.5 3.0/ 96.0
EBE™H. =Fh. WFET. WRE] 350 - - - - - 6 344
100.0 - - - - - 1.7] 98.3
=, FJW 200 - - - 1 1 6 192
100.0 - - - 0.5 0.5 3.0/ 96.0
NI 400 - 1 2 8 389
100.0 - - - 0.3 0.5 2.0/ 97.3
HET 400 - 1 1 - 3 4 391
100.0 - 0.3 0.3 - 0.8 1.0/ 97.8
#aEm., EFH 200 - - - - 1 4 195
100.0 - - - - 0.5 2.0/ 97.5
AT 200 - - - - - 1 199
100. 0 - - - - - 0.5/ 99.5
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£ & 4900 3 0 6 6 160| 4695
100.0 0.1 0.2 0.1 0.5 3.3] 95.8
IRINIRX 400 1 2 - 9 46 342
100.0 0.3 0.5 - 2.3 11.5] 85.5
BiIX 400 - 1 - 3 9 387
100.0 - 0.3 - 0.8 2.3| 96.8
KHEHEX 400 - - - - 8 392
100.0 - - - - 2.0/ 98.0
BHEEX 300 - - - - 4 296
100.0 - - - - 1.3] 98.7
=HEX 400 - 1 1 2 14 382
100.0 - 0.3 0.3 0.5 3.5] 95.5
B 400 1 2 2 4 30 361
100.0 0.3 0.5 0.5 1.0 7.5/ 90.3
IEREX 400 - 1 2 1 9 387
100.0 - 0.3 0.5 0.3 2.3] 96.8
BEIE™., Bk, #ilEET. TAHH 150 - - - - 4 146
100.0 - - - - 2.7 97.3
BT, fEEkT. SATNET. FI4RET 100 - - - - 4 96
100.0 - - - - 4.0/ 96.0
BRFh. sFAMH. REH 200 - 1 - - 3 196
100.0 - 0.5 - - 1.5 98.0
EBE™H. =Fh. WFET. WRE] 350 - - - - 12 338
100.0 - - - - 3.4| 96.6
=, FJW 200 - 1 - 1 7 191
100.0 - 0.5 - 0.5 3.5] 95.5
NI 400 - 1 2 5 392
100.0 - - 0.3 0.5 1.3] 98.0
HET 400 1 1 - 3 4 391
100.0 0.3 0.3 - 0.8 1.0/ 97.8
#aEm., EFH 200 - - - 1 1 198
100.0 - - - 0.5 0.5 99.0
HAB™ 200 - - - - -l 200
100. 0 - - - - -1 100.0
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£ & 4900 1 2 9 0 2 65| 4801
100.0 0.0 0.0 0.2 0.2 0.2 1.3] 98.0
IRINIRX 400 - 1 - 2 2 15 380
100.0 - 0.3 - 0.5 0.5 3.8/ 95.0
RBIX 400 - - 1 - 3 6 390
100.0 - - 0.3 - 0.8 1.5 97.5
KHEHEX 400 - - - - - 4 396
100.0 - - - - - 1.0/ 99.0
BHEEX 300 - - - - - 2 298
100.0 - - - - - 0.7/ 99.3
=HEX 400 - - 1 - - 6 393
100.0 - - 0.3 - - 1.5] 98.3
B 400 1 - 3 1 - 10 385
100.0 0.3 - 0.8 0.3 - 2.5 96.3
IEREX 400 - - 2 2 - 5 391
100.0 - - 0.5 0.5 - 1.3 97.8
BEIE™., Bk, #ilEET. TAHH 150 - - - 1 - 1 148
100.0 - - - 0.7 - 0.7/ 98.7
BT, fEEkT. SATNET. FI4RET 100 - - - - - 2 98
100.0 - - - - - 2.0/ 98.0
BRFh. sFAMH. REH 200 - - - 1 - 2 197
100.0 - - - 0.5 - 1.0/ 98.5
EHBE™H. =Fm. WFET. WREL 350 - - - - - 4| 346
100.0 - - - - - 1.1] 98.9
=, FJW 200 - - 1 - 2 2 195
100.0 - - 0.5 - 1.0 1.0/ 97.5
NI 400 - - 2 2 3 393
100.0 - - - 0.5 0.5 0.8 98.3
HET 400 - 1 1 1 2 1 394
100.0 - 0.3 0.3 0.3 0.5 0.3] 98.5
#aEm., EFH 200 - - - - 1 1 198
100.0 - - - - 0.5 0.5 99.0
AT 200 - - - - - 1 199
100. 0 - - - - - 0.5/ 99.5
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£ & 4900 1 4 6 5 0 121 4733
100.0 0.0 0.1 0.1 0.1 0.6 2.5| 96.6
IRINIRX 400 1 1 - - 2 6 390
100.0 0.3 0.3 - - 0.5 1.5 97.5
BiIX 400 - - 1 - 4 12 383
100.0 - - 0.3 - 1.0 3.0/ 95.8
KHEHEX 400 - - - - - 4 396
100.0 - - - - - 1.0/ 99.0
BHEEX 300 - - - 1 1 298
100.0 - - - - 0.3 0.3] 99.3
=HEX 400 - 1 - - - 2 397
100.0 - 0.3 - - - 0.5 99.3
B 400 - 1 - 1 2 9 387
100.0 - 0.3 - 0.3 0.5 2.3] 96.8
IEREX 400 - - - 1 2 3 394
100.0 - - - 0.3 0.5 0.8/ 98.5
BEIE™., Bk, #ilEET. TAHH 150 - - - - - 3 147
100.0 - - - - - 2.0/ 98.0
BT, fEEkT. SATNET. FI4RET 100 - - - 1 10 89
100.0 - - - - 1.0/ 10.0| 89.0
BFEm. sFAT. RES 200 - - 1 2 9 31 157
100.0 - - 0.5 1.0 4.5 15.5| 78.5
EBE™H. =Fh. WFET. WRE] 350 - - 1 - 2 18 329
100.0 - - 0.3 - 0.6 5.1 94.0
=, FJW 200 - - 2 - 2 14 182
100.0 - - 1.0 - 1.0 7.0 91.0
JIllE T 400 - - - 3 3| 394
100.0 - - - - 0.8 0.8| 98.5
HET 400 - 1 1 1 1 3 393
100.0 - 0.3 0.3 0.3 0.3 0.8 98.3
HE™m. EFM 200 - - - - - 1 199
100.0 - - - - - 0.5| 99.5
AT 200 - - - - 1 1 198
100. 0 - - - - 0.5 0.5/ 99.0
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£ & 4900 3 6 9 3 316| 4493
100.0 0.1 0.1 0.4 1.3 6.4 91.7
IRINIRX 400 1 - 2 4 7 386
100.0 0.3 - 0.5 1.0 1.8] 96.5
RBIX 400 - 1 - 4 38 357
100.0 - 0.3 - 1.0 9.5/ 89.3
KHEHEX 400 - - - - 6 394
100.0 - - - - 1.5] 98.5
BHEEX 300 - - - 1 6 293
100.0 - - - 0.3 2.0 97.7
=HEX 400 - - 1 - 14 385
100.0 - - 0.3 - 3.5] 96.3
B 400 1 - - 6 29 364
100.0 0.3 - - 1.5 7.3 91.0
IEREX 400 - - 1 5 10 384
100.0 - - 0.3 1.3 2.5/ 96.0
BEIE™., Bk, #ilEET. TAHH 150 - - - - 8 142
100.0 - - - - 5.3| 94.7
BT, fEETh. SATRET. FIRHE] 100 - - 4 16 80
100.0 - - - 4.0/ 16.0] 80.0
BFEm. sFAT. RES 200 - 1 0 3 82 84
100.0 - 0.5 5.0/ 11.5] 41.0] 42.0
EBE™H. =Fh. WFET. WRE] 350 - 1 1 4 39 305
100.0 - 0.3 0.3 1.1 11.1] 87.1
=, FJW 200 - 1 3 9 49 138
100.0 - 0.5 1.5 4.5 24.5| 69.0
NI 400 - 1 2 3 394
100.0 - - 0.3 0.5 0.8| 98.5
HET 400 1 2 - 1 5 391
100.0 0.3 0.5 - 0.3 1.3 97.8
HE™m. EFM 200 - - - - 3 197
100.0 - - - - 1.5 98.5
AT 200 - - - - 1 199
100. 0 - - - - 0.5/ 99.5
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£ & 4900 1 3 7 15 1 231 4592
100.0 0.0 0.1 0.1 0.3 1.0 4.7 93.7
IRINIRX 400 1 1 - - 3 5 390
100.0 0.3 0.3 - - 0.8 1.3] 97.5
BiIX 400 - - 1 - 4 14 381
100.0 - - 0.3 - 1.0 3.5 95.3
KHEHEX 400 - - - - - 4 396
100.0 - - - - - 1.0/ 99.0
BHEEX 300 - - - - - 5 295
100.0 - - - - - 1.7] 98.3
=HEX 400 - - - 1 - 1 388
100.0 - - - 0.3 - 2.8/ 97.0
B 400 - 1 1 1 7 16 374
100.0 - 0.3 0.3 0.3 1.8 4.0/ 93.5
IEREX 400 - - - 1 3 7 389
100.0 - - - 0.3 0.8 1.8] 97.3
BEIE™., Bk, #ilEET. TAHH 150 - - - - - 3 147
100.0 - - - - - 2.0/ 98.0
BT, fEETh. SATRET. FIRHE] 100 - - 1 - 4 0 65
100.0 - - 1.0 - 4.0/ 30.0/ 65.0
BFEm. sFAT. RES 200 - - - 9 7 74 100
100.0 - - - 4.5 8.5 37.0] 50.0
EBE™H. =Fh. WFET. WRE] 350 - - 1 1 5 17 326
100.0 - - 0.3 0.3 1.4 4.9/ 93.1
=, FJW 200 - - 1 2 4 33 160
100.0 - - 0.5 1.0 2.0/ 16.5] 80.0
JIllE T 400 - - - 3 4| 393
100.0 - - - - 0.8 1.0/ 98.3
HET 400 - 1 2 - 1 4 392
100.0 - 0.3 0.5 - 0.3 1.0/ 98.0
HE™m. EFM 200 - - - - - 2 198
100.0 - - - - - 1.0/ 99.0
AT 200 - - - - - 2 198
100. 0 - - - - - 1.0/ 99.0
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£ & 4900 2 0 15 5 148| 4680
100.0 0.0 0.2 0.3 0.9 3.0/ 95.5
IRINIRX 400 - 1 - 3 4 392
100.0 - 0.3 - 0.8 1.0/ 98.0
BiIX 400 - 1 - 3 9 387
100.0 - 0.3 - 0.8 2.3| 96.8
KHEHEX 400 - - - - 3 397
100.0 - - - - 0.8/ 99.3
BHEEX 300 - - - - 2 298
100.0 - - - - 0.7/ 99.3
=HEX 400 - 1 1 - 6 392
100.0 - 0.3 0.3 - 1.5 98.0
B 400 1 - 1 4 18 376
100.0 0.3 - 0.3 1.0 4.5/ 94.0
IEREX 400 - - 2 1 4 393
100.0 - - 0.5 0.3 1.0/ 98.3
BEET, #ikh., T, TAm 150 - - 1 1 4 144
100.0 - - 0.7 0.7 2.7/ 96.0
BT, fEEkT. SATNET. FI4RET 100 - - - 6 15 79
100.0 - - - 6.0/ 15.0/ 79.0
BFEm. sFAT. RES 200 - 3 6 2 46 123
100.0 - 1.5 3.0/ 11.0] 23.0| 61.5
EBE™H. =Fh. WFET. WRE] 350 - 1 2 1 19 327
100.0 - 0.3 0.6 0.3 5.4/ 93.4
=, FJW 200 - 1 - 2 13 184
100.0 - 0.5 - 1.0 6.5 92.0
NI 400 - 1 2 3 394
100.0 - - 0.3 0.5 0.8| 98.5
HET 400 1 2 1 - 2 394
100.0 0.3 0.5 0.3 - 0.5/ 98.5
#aEm., EFH 200 - - _ Z —T 200
100.0 - - - - -1 100.0
HAB™ 200 - - - - - 200
100. 0 - - - - -1 100.0
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£ & 4900 3 7 1 5 264| 4560
100.0 0.1 0.1 0.2 1.1 5.4| 93.1
IRINIRX 400 1 - 1 1 8 389
100.0 0.3 - 0.3 0.3 2.0/ 97.3
RBIX 400 - 2 - 4 29 365
100.0 - 0.5 - 1.0 7.3 91.3
KHEHEX 400 - - - 1 6 393
100.0 - - - 0.3 1.5] 98.3
BHEEX 300 - - 1 - 10 289
100.0 - - 0.3 - 3.3] 96.3
=HEX 400 - 1 - - 10 389
100.0 - 0.3 - - 2.5| 97.3
B 400 1 - - 5 23 37
100.0 0.3 - - 1.3 5.8/ 92.8
IEREX 400 - - 1 3 6 390
100.0 - - 0.3 0.8 1.5 97.5
BEIE™., Bk, #ilEET. TAHH 150 - - - - 2 148
100.0 - - - - 1.3] 98.7
BT, fEEkT. SATNET. FI4RET 100 - - 1 8 91
100.0 - - - 1.0 8.0/ 91.0
BRFh. sFAMH. REH 200 - 1 4 9 66 110
100.0 - 0.5 2.0 9.5 33.0/ 55.0
EBE™H. =Fh. WFET. WRE] 350 - 1 1 4 33 311
100.0 - 0.3 0.3 1.1 9.4/ 88.9
=, FJW 200 - 1 3 1 55 130
100.0 - 0.5 1.5 5.5| 27.5] 65.0
JIllE T 400 - - 3 4| 393
100.0 - - - 0.8 1.0/ 98.3
HET 400 1 1 - 3 3 392
100.0 0.3 0.3 - 0.8 0.8/ 98.0
HE™m. EFM 200 - - - - 1 199
100.0 - - - - 0.5| 99.5
HAB™ 200 - - - - -l 200
100. 0 - - - - -1 100.0
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100.0 0.1 0.1 0.1 0.2 1.1] 98.4
IR 400 1 1 - 1 4] 393
100.0 0.3 0.3 - 0.3 1.0/ 98.3
BIR 400 - 1 - 1 5/ 393
100.0 - 0.3 - 0.3 1.3] 98.3
KHEHEX 400 - - - - 3 397
100.0 - - - - 0.8/ 99.3
BHEEX 300 - - - - 300
100.0 - - - - -1 100.0
SHEK 400 1 - - - 3] 396
100.0 0.3 - - - 0.8 99.0
B 400 - 1 1 - 2 396
100.0 - 0.3 0.3 - 0.5 99.0
IEREX 400 - - 1 - - 399
100.0 - - 0.3 - - 99.8
BEET, #ikh., T, TAm 150 - - 1 4 4 121
100.0 - - 0.7 2.7/ 16.0] 80.7
BT, fEEkT. SATNET. FI4RET 100 - - - - 2 98
100.0 - - - - 2.0/ 98.0
mFEH. sFAH. REH 200 - - 1 - 2] 197
100.0 - - 0.5 - 1.0/ 98.5
EHBE™H. =Fm. WFET. WREL 350 - - - - 3 347
100.0 - - - - 0.9/ 99.1
=, FJW 200 - 1 - 1 198
100.0 -| 0.5 - - 0.5 99.0
NI 400 - 2 1 2 395
100.0 - -| 0.5/ 0.3 0.5 9838
HET 400 1 1 - 1 2 395
100.0 0.3] 0.3 -| 0.3 05 98.8
trah. EFh 200 - - - - 1 199
100.0 - - - -| 0.5/ 99.5
AT 200 - - - - - 200
100.0 - - - - -1 100.0
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100.0 0.0 0.1 0.2 0.2 0.4 1.9/ 97.2
IRINIRX 400 1 - 1 1 2 395
100.0 0.3 - 0.3 - 0.3 0.5| 98.8
RBIX 400 - - 1 - 1 6 392
100.0 - - 0.3 - 0.3 1.5 98.0
KHEHEX 400 - - - - - 2 398
100.0 - - - - - 0.5 99.5
BHEEX 300 - - - - 2 298
100.0 - - - - - 0.7/ 99.3
=HEX 400 - 1 - - - 1 398
100.0 - 0.3 - - - 0.3] 99.5
B 400 - 1 - - - 2 397
100.0 - 0.3 - - - 0.5 99.3
IR 400 - - - 1 - 2| 397
100.0 - - - 0.3 - 0.5 99.3
BEET, #ikh., T, TAm 150 - - 5 1 3 3 62
100.0 - - 3.3 4.7 8.7 42.0] 41.3
BT, fEEkT. SATNET. FI4RET 100 - - - - 1 3 96
100.0 - - - - 1.0 3.0/ 96.0
BRFh. sFAMH. REH 200 - - - 1 - 2 197
100.0 - - - 0.5 - 1.0/ 98.5
EHBE™H. =Fm. WFET. WREL 350 - - - - - 3| 347
100.0 - - - - - 0.9/ 99.1
=, FJW 200 - - 1 - - 1 198
100.0 - - 0.5 - - 0.5 99.0
NI 400 - - 1 3 2 394
100.0 - - - 0.3 0.8 0.5/ 98.5
HET 400 - 1 1 - 2 2 394
100.0 - 0.3 0.3 - 0.5 0.5/ 98.5
HE™m. EFM 200 - - - - - 1 199
100.0 - - - - - 0.5| 99.5
HAB™ 200 - - - - - -l 200
100. 0 - - - - - -1 100.0




(1) KREUNFEREOF ARKR

HUET7 (REvavEVIEVE—)

#EIJOY YA

E3 3B IE A A T [E3

R & st Iz Iz z = &

T vy 2 1 2 1 ] vy

M E § E] § E] [=] E

= 3 & 3 2 F

=] [=] E [=] E A

L

LAY

Ly
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100.0 0.1 0.1 0.1 0.1 0.6/ 99.0
IRINIRX 400 1 1 - 1 3 394
100.0 0.3 0.3 - 0.3 0.8/ 98.5
RBIX 400 - 1 - 2 4 393
100.0 - 0.3 - 0.5 1.0/ 98.3
KHEHEX 400 - - - - 4 396
100.0 - - - - 1.0/ 99.0
BHEEX 300 - 1 - - 299
100.0 - - 0.3 - -1 99.7
=HEX 400 1 - - - 4 395
100.0 0.3 - - - 1.0/ 98.8
B 400 1 - 1 - 2 396
100.0 0.3 - 0.3 - 0.5 99.0
IR 400 - - 1 - -l 399
100.0 - - 0.3 - - 99.8
BEIE™., Bk, #ilEET. TAHH 150 - - - - 1 149
100.0 - - - - 0.7/ 99.3
BT, fEEkT. SATNET. FI4RET 100 - - - - 1 99
100.0 - - - - 1.0/ 99.0
BRFh. sFAMH. REH 200 - - 1 - 2 197
100.0 - - 0.5 - 1.0/ 98.5
EHBE™H. =Fm. WFET. WREL 350 - - - - 3| 347
100.0 - - - - 0.9/ 99.1
=, FJW 200 - 1 - - 1 198
100.0 - 0.5 - - 0.5 99.0
NI 400 - 1 3 2 394
100.0 - - 0.3 0.8 0.5/ 98.5
HET 400 1 1 - - 2 396
100.0 0.3 0.3 - - 0.5 99.0
HE™m. EFM 200 - - - - -l 200
100.0 - - - - -1 100.0
HAB™ 200 - - - - -l 200
100. 0 - - - - -1 100.0
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£ & 4900 1 1 5 3 7 7| 4846
100.0 0.0 0.0 0.1 0.1 0.1 0.8/ 98.9
IRINIRX 400 - - 1 - 2 5 392
100.0 - - 0.3 - 0.5 1.3] 98.0
RBIX 400 - - 1 - 2 5 392
100.0 - - 0.3 - 0.5 1.3] 98.0
KHEHEX 400 - - - - - 3 397
100.0 - - - - - 0.8/ 99.3
BHEEX 300 - - - - 1 299
100.0 - - - - - 0.3] 99.7
=HEX 400 1 - - - - 4 395
100.0 0.3 - - - - 1.0/ 98.8
B 400 - - 1 - - 3 396
100.0 - - 0.3 - - 0.8/ 99.0
IR 400 - - - 1 - 2| 397
100.0 - - - 0.3 - 0.5 99.3
BEIE™., Bk, #ilEET. TAHH 150 - - - - - 1 149
100.0 - - - - - 0.7/ 99.3
BT, fEEkT. SATNET. FI4RET 100 - - - - - 2 98
100.0 - - - - - 2.0/ 98.0
BRFh. sFAMH. REH 200 - - - 1 - 2 197
100.0 - - - 0.5 - 1.0/ 98.5
EHBE™H. =Fm. WFET. WREL 350 - - - - - 2| 348
100.0 - - - - - 0.6/ 99.4
=, FJW 200 - - - 1 1 198
100.0 - - - - 0.5 0.5 99.0
NI 400 - 1 1 2 2 394
100.0 - - 0.3 0.3 0.5 0.5/ 98.5
HET 400 - 1 1 - - 3 395
100.0 - 0.3 0.3 - - 0.8/ 98.8
HE™m. EFM 200 - - - - - 1 199
100.0 - - - - - 0.5| 99.5
HAB™ 200 - - - - - -l 200
100. 0 - - - - - -1 100.0
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£ & 4900 1 3 3 2 9 2| 4840
100.0 0.0 0.1 0.1 0.0 0.2 0.9/ 98.8
IRINIRX 400 1 1 - - 1 5 392
100.0 0.3 0.3 - - 0.3 1.3] 98.0
BiIX 400 - - 1 - 1 5 393
100.0 - - 0.3 - 0.3 1.3] 98.3
KHEHEX 400 - - - - - 4 396
100.0 - - - - - 1.0/ 99.0
BHEEX 300 - - - - 1 299
100.0 - - - - - 0.3] 99.7
=HEX 400 - 1 - - - 4 395
100.0 - 0.3 - - - 1.0/ 98.8
B 400 - - 1 - - 4 395
100.0 - - 0.3 - - 1.0/ 98.8
IERX 400 - - - 1 - - 399
100.0 - - - 0.3 - - 99.8
BEIE™., Bk, #ilEET. TAHH 150 - - - - - 1 149
100.0 - - - - - 0.7/ 99.3
BT, fEEkT. SATNET. FI4RET 100 - - - - 1 99
100.0 - - - - - 1.0/ 99.0
BRFh. sFAMH. REH 200 - - - - 1 3 196
100.0 - - - - 0.5 1.5 98.0
EBE™H. =Fh. WFET. WRE] 350 - - - - 3 2 345
100.0 - - - - 0.9 0.6/ 98.6
=, FJW 200 - - - - 1 2 197
100.0 - - - - 0.5 1.0/ 98.5
NI 400 - 1 2 3 394
100.0 - - - 0.3 0.5 0.8| 98.5
HET 400 - 1 1 - - 7 391
100.0 - 0.3 0.3 - - 1.8 97.8
HE™m. EFM 200 - - - - - - 200
100.0 - - - - - -1 100.0
HAB™ 200 - - - - - - 200
100. 0 - - - - - -1 100.0
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£ & 4900 2 3 3 3 6 47| 4836
100.0 0.0 0.1 0.1 0.1 0.1 1.0/ 98.7
IRINIRX 400 1 1 - - - 6 392
100.0 0.3 0.3 - - - 1.5 98.0
RBIX 400 - - 1 - 1 4 394
100.0 - - 0.3 - 0.3 1.0/ 98.5
KHEHEX 400 1 - - - - 4 395
100.0 0.3 - - - - 1.0/ 98.8
BREX 300 - - - - - 4 206
100.0 - - - - - 1.3] 98.7
=HEX 400 - - 1 - 1 5 393
100.0 - - 0.3 - 0.3 1.3] 98.3
B 400 - 1 - - - 5 394
100. 0 - 0.3 - - - 1.3] 98.5
IR 400 - - - 1 1 1 397
100. 0 - - - 0.3 0.3 0.3] 99.3
BEIE™., Bk, #ilEET. TAHH 150 - - - - - 1 149
100. 0 - - - - - 0.7/, 99.3
Besigth., fEh. SAWNET. F4EED 100 - - - - - 1 99
100. 0 - - - - - 1.0/ 99.0
BRFh. sFAMH. REH 200 - - - 1 - 1 198
100. 0 - - - 0.5 - 0.5 99.0
EREH. =Fh. LXFET. MRET 350 - - - - - 3| 347
100. 0 - - - - - 0.9/ 99.1
=/h. FNE 200 - - - - 1 3 196
100.0 - - - - 0.5 1.5 98.0
NI 400 - 1 2 4 393
100.0 - - - 0.3 0.5 1.0/ 98.3
HET 400 - 1 1 - - 5 393
100.0 - 0.3 0.3 - - 1.3] 98.3
HE™m. EFM 200 - - - - - - 200
100.0 - - - - - -1 100.0
HAB™ 200 - - - - - - 200
100. 0 - - - - - -1 100.0
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£ & 4900 2 5 5 9 558| 4281
100.0 0.0 0.1 0.1 1.0/ 11.4| 87.4
IRINIRX 400 1 1 - 3 68 327
100.0 0.3 0.3 - 0.8/ 17.0] 81.8
BiIX 400 - 1 1 3 40 355
100.0 - 0.3 0.3 0.8/ 10.0/ 88.8
KHEHEX 400 - - - 9 68 323
100.0 - - - 2.3 17.0] 80.8
BHEEX 300 - - - 3 21 276
100.0 - - - 1.0 7.0, 92.0
=HEX 400 - 1 - 1 51 347
100.0 - 0.3 - 0.3] 12.8] 86.8
B 400 - 1 1 6 42 350
100.0 - 0.3 0.3 1.5/ 10.5| 87.5
IEREX 400 - - - 5 51 344
100.0 - - - 1.3/ 12.8| 86.0
BEIE™., Bk, #ilEET. TAHH 150 - - - 1 15 134
100.0 - - - 0.7/ 10.0] 89.3
BT, fEEkT. SATNET. FI4RET 100 - - - - 6 94
100.0 - - - - 6.0/ 94.0
BFEm. sFAT. RES 200 - - 1 - 13 186
100.0 - - 0.5 - 6.5/ 93.0
EBE™H. =Fh. WFET. WRE] 350 - - - - 15 335
100.0 - - - - 4.3 95.7
=, FJW 200 - - - 3 13 184
100.0 - - - 1.5 6.5 92.0
NI 400 2 6 51 335
100.0 - - 0.5 1.5/ 14.3| 83.8
HET 400 1 1 - 5 50 343
100.0 0.3 0.3 - 1.3] 12.5| 85.8
#aEm., EFH 200 - - - 2 26 172
100.0 - - - 1.0/ 13.0| 86.0
AT 200 - - - 2 22 176
100. 0 - - - 1.0/ 11.0/ 88.0
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£ K 4900 1 2 5 3 2 104| 4773
100.0 0.0 0.0 0.1 0.1 0.2 2.1] 97.4
IR 400 1 - 1 - 1 1 386
100.0 0.3 - 0.3 - 0.3 2.8/ 96.5
RBiIX 400 - - 1 - 1 9 389
100.0 - - 0.3 - 0.3 2.3 97.3
KHERX 400 - - - - - 14 386
100.0 - - - - - 3.5 96.5
BREX 300 - - - - - 4 206
100.0 - - - - - 1.3] 98.7
=HRX 400 - - 1 - 1 10 388
100.0 - - 0.3 - 0.3 2.5 97.0
B 400 - - 1 1 - 12 386
100. 0 - - 0.3 0.3 - 3.0/ 96.5
IR 400 - - - 1 3 3 393
100. 0 - - - 0.3 0.8 0.8/ 98.3
BElETh., Bk, #iEmH. 1TA™ 150 - - - - - 2| 148
100. 0 - - - - - 1.3| 98.7
Besigth., fEh. SAWNET. F4EED 100 - - - - - 3 97
100. 0 - - - - - 3.0/ 97.0
mFm. sFAT. REH 200 - - - 1 - 2] 197
100. 0 - - - 0.5 - 1.0/ 98.5
EHE™H. =Fd. LFHE. BKE] 350 - - - - - 4 346
100. 0 - - - - - 1.1 98.9
=/h. FNE 200 - - - - 1 2 197
100. 0 - - - - 0.5 1.0/ 98.5
JIllE T 400 - - 5 9 386
100. 0 - - - - 1.3 2.3] 96.5
EM 400 - 1 1 - - 1 387
100. 0 - 0.3 0.3 - - 2.8/ 96.8
HAE™., EFh 200 - - - - - 3] 197
100.0 - - - - - 1.5 98.5
HAB™ 200 - 1 - - - 5 194
100. 0 - 0.5 - - - 2.5 97.0
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£ & 4900 4 186 356 536 593 1019| 2156
100.0 1.1 3.8 7.3 10.9/ 12.1| 20.8| 44.0
IRINIRX 400 4 30 43 65 68 86 104
100.0 1.0 7.5/ 10.8, 16.3| 17.0, 21.5| 26.0
BiIX 400 8 24 49 60 64 83 112
100.0 2.0 6.0/ 12.3] 15.0/ 16.0] 20.8] 28.0
KHEHEX 400 7 20 42 62 70 69 130
100.0 1.8 5.0/ 10.5| 15.5| 17.5| 17.3] 32.5
BHEEX 300 7 16 42 44 43 53 95
100.0 2.3 5.3 14.0) 14.7| 14.3| 17.7| 31.7
=HEX 400 1 25 53 69 63 81 98
100.0 2.8 6.3 13.3] 17.3] 15.8| 20.3] 24.5
B 400 1 19 46 65 12 79 108
100.0 2.8 4.8/ 11.5| 16.3| 18.0| 19.8| 27.0
IEREX 400 5 39 47 84 Il 41 113
100.0 1.3 9.8/ 11.8] 21.0/ 17.8] 10.3] 28.3
BEET, #ikh., T, TAm 150 - - - 1 3 30 116
100.0 - - - 0.7 2.00 20.0] 77.3
BT, fEETh. SATRET. FIRHE] 100 - - 1 - 3 30 66
100.0 - - 1.0 - 3.0/ 30.0| 66.0
BFEm. sFAT. RES 200 - - 2 5 15 55 123
100.0 - - 1.0 2.5 7.5 21.5| 61.5
EBE™H. =Fh. WFET. WRE] 350 - 2 3 15 10 80 240
100.0 - 0.6 0.9 4.3 2.9 22.9] 68.6
=, FJW 200 4 2 1 24 51 102
100.0 - 2.0 1.0 5.5 12.0] 28.5| 51.0
NI 400 1 5 8 29 43 106 198
100.0 0.3 1.3 4.5 7.3/ 10.8| 26.5| 49.5
HET 400 - 2 5 18 32 79 264
100.0 - 0.5 1.3 4.5 8.0/ 19.8] 66.0
#aEm., EFH 200 - - 2 5 5 54 134
100.0 - - 1.0 2.5 2.5 27.0] 67.0
AT 200 - - 1 3 7 36 153
100. 0 - - 0.5 1.5 3.5/ 18.0] 76.5




(1) KREUNSEEDOFIFRKR
RIR A DKENF
FEETOY Y8

E3 3B IE A A T [E3

R & st Iz Iz z = &

T vy 2 1 2 1 ] vy

M E § E] § E] [=] E

= 3 & 3 2 F

=] [=] E [=] E A

L

LAY

Ly
£ & 4900 5 28 1 13 103 256| 4384
100.0 0.1 0.6 1.0 1.5 2.1 5.2| 89.5
IRINIRX 400 - - 2 2 - 14 382
100.0 - - 0.5 0.5 - 3.5] 95.5
BiIX 400 - - 1 2 7 27 363
100.0 - - 0.3 0.5 1.8 6.8/ 90.8
KHEHEX 400 - - - - 1 5 394
100.0 - - - - 0.3 1.3] 98.5
BHEEX 300 - 1 - - 1 3 295
100.0 - 0.3 - - 0.3 1.0/ 98.3
=HEX 400 - 1 - 1 4 13 381
100.0 - 0.3 - 0.3 1.0 3.3] 95.3
B 400 - - 1 - 4 14 381
100.0 - - 0.3 - 1.0 3.5] 95.3
IEREX 400 - - 1 2 3 3 391
100.0 - - 0.3 0.5 0.8 0.8 97.8
BEET, #ikh., T, TAm 150 - 8 9 19 26 45 43
100.0 - 5.3 6.0/ 12.7\ 17.3| 30.0, 28.7
BT, fEETh. SATRET. FIRHE] 100 1 6 8 13 19 23 30
100.0 1.0 6.0 8.0/ 13.0/ 19.0] 23.0| 30.0
BFEm. sFAT. RES 200 4 1 5 32 32 48 48
100.0 2.0 5.5/ 12.5] 16.0] 16.0| 24.0] 24.0
EBE™H. =Fh. WFET. WRE] 350 - - 1 1 - 26 322
100.0 - - 0.3 0.3 - 7.4/ 92.0
=, FJW 200 - - - - 2 17 181
100.0 - - - - 1.0 8.5] 90.5
NI 400 - - 1 2 10 387
100.0 - - - 0.3 0.5 2.5| 96.8
HET 400 - 1 2 - 2 5 390
100.0 - 0.3 0.5 - 0.5 1.3] 97.5
HE™m. EFM 200 - - 1 - - - 199
100.0 - - 0.5 - - - 99.5
AT 200 - - - - - 3 197
100. 0 - - - - - 1.5] 98.5
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£ & 4900 10 48 102 148 192 375| 4025
100.0 0.2 1.0 2.1 3.0 3.9 1.7 82.1
IRINIRX 400 - 1 - 1 5 25 368
100.0 - 0.3 - 0.3 1.3 6.3 92.0
BiIX 400 - - 10 18 5 67 270
100.0 - - 2.5 4.5 8.8/ 16.8] 67.5
KHEHEX 400 - - - 1 3 9 387
100.0 - - - 0.3 0.8 2.3| 96.8
BHEEX 300 - 1 4 4 20 271
100.0 - - 0.3 1.3 1.3 6.7/ 90.3
=HEX 400 - 1 1 1 3 25 359
100.0 - 0.3 0.3 0.3 3.3 6.3| 89.8
B 400 - 2 4 14 8 39 323
100.0 - 0.5 1.0 3.5 4.5 9.8/ 80.8
IEREX 400 - - 1 1 5 18 375
100.0 - - 0.3 0.3 1.3 4.5/ 93.8
BEIE™., Bk, #ilEET. TAHH 150 - - - - - 5 145
100.0 - - - - - 3.3] 96.7
BT, fEEkT. SATNET. FI4RET 100 - - - - - 6 94
100.0 - - - - - 6.0/ 94.0
BFEm. sFAT. RES 200 - - 2 2 10 24 162
100.0 - - 1.0 1.0 5.0/ 12.0] 81.0
EBE™H. =Fh. WFET. WRE] 350 7 27 50 58 63 65 80
100.0 2.0 7.7 14.3| 16.6/ 18.0/ 18.6| 22.9
=, FJW 200 3 16 30 46 33 37 35
100.0 1.5 8.0/ 15.0/ 23.0/ 16.5| 18.5| 17.5
NI 400 - - - 2 3 15 380
100.0 - - - 0.5 0.8 3.8/ 95.0
HET 400 - 1 1 - - 15 383
100.0 - 0.3 0.3 - - 3.8/ 95.8
#aEm., EFH 200 - - 1 - - 2 197
100.0 - - 0.5 - - 1.0/ 98.5
AT 200 - - 1 - - 3 196
100. 0 - - 0.5 - - 1.5 98.0
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£ & 4900 26 107 215 253 299 484| 3516
100.0 0.5 2.2 4.4 5.2 6.1 9.9/ 71.8
IRINIRX 400 1 - - - 6 29 364
100.0 0.3 - - - 1.5 7.3 91.0
BiIX 400 - - 1 2 3 22 372
100.0 - - 0.3 0.5 0.8 5.5] 93.0
KHEHEX 400 - 6 12 35 49 110 188
100.0 - 1.5 3.0 8.8 12.3] 271.5| 47.0
BHEEX 300 - - 1 2 23 274
100.0 - - - 0.3 0.7 7.7 91.3
=HEX 400 1 - - - 8 38 353
100.0 0.3 - - - 2.0 9.5/ 88.3
B 400 - 1 - 2 3 17 377
100.0 - 0.3 - 0.5 0.8 4.3 94.3
IEREX 400 - - 2 4 8 22 364
100.0 - - 0.5 1.0 2.0 5.5 91.0
BEET, #ikh., T, TAm 150 - - - 1 - 10 139
100.0 - - - 0.7 - 6.7 92.7
BT, fEEkT. SATNET. FI4RET 100 - - - - - 2 98
100.0 - - - - - 2.0/ 98.0
BFEm. sFAT. RES 200 - - 1 1 8 190
100.0 - - - 0.5 0.5 4.0/ 95.0
EBE™H. =Fh. WFET. WRE] 350 - - 1 - 1 13 335
100.0 - - 0.3 - 0.3 3.7 95.7
=, FJW 200 - - - - 3 13 184
100.0 - - - - 1.5 6.5 92.0
NI 400 6 24 59 65 81 66 99
100.0 1.5 6.0/ 14.8] 16.3] 20.3| 16.5| 24.8
HET 400 12 43 12 69 64 59 81
100.0 3.0/ 10.8| 18.0| 17.3] 16.0| 14.8] 20.3
#aEm., EFH 200 2 14 37 43 37 27 40
100.0 1.0 7.0/ 18.5| 21.5/ 18.5| 13.5| 20.0
AT 200 4 19 31 30 33 25 58
100. 0 2.0 9.5/ 15.5| 15.0/ 16.5| 12.5] 29.0




KARBUNEIEZFAY SES
FEEIOY YA

m | AE| & fli | W7 || T7 | B B | B1 & E | ¥ | o5 | BE F ih '3 [ AR | F
B & | Th | # ® |hD | B\ EY | = W | 5Hh| B 8B | hE | # =2 15 = o ME | HE| D
x D | EH| z N8| N e B M| hE| @ D |51 | L L ) = | HD| BT | it
# | B 2 & | | e | x| % # | 3T| & 5 % | & 1 )] H R |3 hfE
B | ofE| B Ly ¥ |5 || F L | AEBE| & = E x| ® El 3 n E | NS5 | A
. & ) |l | R | 58| A T | 50| 0 BE n L| & Ly n H L |5y %
¥ ~ | M DS E| 54 W L (A Y/ E T < il = i %) T m ~
= R R v . X T Hop n 7 B | » ¥ A ) < H "t
X & % ~ B| 9 ES Bl & & 2 BE| 5 i T 5 n % L
& + = 2 £ W L £ = Ly T P 5] = % . 1H
L [ I+ [ Iz » L x| I2 m 3 ) o % o\ 4 ®
) £ £ £ OB Pl F|o» 5 = % P} m 5 ~ B
5 ¥ 3 < 5 EJ i ) 5 5 v i3
& 1K 1880 205 383 658 361 400 143 399 513 366 412 3 0 183 9 4 89 8 8 5 32 98] 249
100.0| 10.9] 20.4] 35.0] 19.2] 2.1 7.6/ 21.2] 27.3 19.5 21.9 1.2 1.6/ 9.7 0.5 23 47 31 41 08 1.7 52 132
IR 253 21 57 93 49 3 25 70 84 48 68 1 3 32 3 3 11 2 8 3 5 10 19
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